

ROMANIAN MATHEMATICAL MAGAZINE

In any ΔABC with n_a, n_b, n_c

→ Nagel cevians, the following relationship holds :

$$(n_a + n_b + n_c)^2 \geq 9s^2 - 80Rr - 2r^2$$

Proposed by Mohamed Amine Ben Ajiba-Tanger-Morocco

Solution by Soumava Chakraborty-Kolkata-India

$$\begin{aligned}
 & n_b^2 + n_c^2 + 2n_b n_c - n_a^2 \stackrel{\text{Bogdan Fustei}}{\geq} s(s-b) + \frac{s}{b}(c-a)^2 + s(s-c) \\
 & + \frac{s}{c}(a-b)^2 + 2g_b g_c - s(s-a) - \frac{s}{a}(b-c)^2 \geq s(s-b) + \frac{s}{b}(c-a)^2 \\
 & + s(s-c) + \frac{s}{c}(a-b)^2 + 2(s-b)(s-c) - s(s-a) - \frac{s}{a}(b-c)^2 \\
 & \left(\because g_a^2 \stackrel{\text{Bogdan Fustei}}{=} (s-a)^2 + 2rh_a \Rightarrow g_a > s-a \text{ and analogs} \right) \\
 & = \frac{\left((\sum_{\text{cyc}} x)(y+z-x) \cdot \prod_{\text{cyc}}(y+z) + \right. \\
 & \quad \left. (\sum_{\text{cyc}} x)((z-x)^2(x+y)(y+z) + (x-y)^2(y+z)(z+x) - (y-z)^2(z+x)(x+y)) \right) +}{2yz \cdot \prod_{\text{cyc}}(y+z)} \\
 & \quad \prod_{\text{cyc}}(y+z) \\
 & \quad (x=s-a, y=s-b, z=s-c \text{ and hence : } a=y+z, b=z+x, c=x+y) \\
 & = \frac{xy(x^3+y^3-xy(x+y)) + zx(z^3+x^3-zx(z+x)) + 2x^3yz + 4xy^3z + 10xy^2z^2 +}{4xyz^3 + y^4z + yz^4 + 9y^3z^2 + 9y^2z^3} \\
 & \quad \prod_{\text{cyc}}(y+z) \\
 & > 0 (\because x^3+y^3 \geq xy(x+y) \text{ etc}) \Rightarrow n_b + n_c > n_a \text{ and similarly, } n_c + n_a > n_b \\
 & \text{and } n_a + n_b > n_c \Rightarrow n_a, n_b, n_c \text{ form sides of a triangle } \therefore \sum_{\text{cyc}} (n_a(n_b + n_c - n_a)) \\
 & \stackrel{\text{Hadwiger-Finsler}}{\geq} \sqrt{3} \cdot \sqrt{2 \sum_{\text{cyc}} n_b^2 n_c^2 - \sum_{\text{cyc}} n_a^4} \\
 & = \sqrt{3} \cdot \left(4 \sum_{\text{cyc}} n_b^2 n_c^2 - \left(\sum_{\text{cyc}} n_a^2 \right)^2 \right) \stackrel{\text{Bogdan Fustei}}{=} \\
 & \quad \sqrt{3} \cdot \left(4s^4 \sum_{\text{cyc}} \left(\left(1 - \frac{r}{R} \sec^2 \frac{B}{2} \right) \left(1 - \frac{r}{R} \sec^2 \frac{C}{2} \right) \right) - s^4 \left(\sum_{\text{cyc}} \left(1 - \frac{r}{R} \sec^2 \frac{A}{2} \right) \right)^2 \right) \\
 & = \sqrt{3} \cdot \sqrt{4s^4 \left(3 - \frac{2r}{R} \cdot \frac{s^2 + (4R+r)^2}{s^2} + \frac{r^2}{R^2} \cdot \frac{16R^2}{s^2} \cdot \frac{4R+r}{2R} \right) - s^4 \left(3 - \frac{r}{R} \cdot \frac{s^2 + (4R+r)^2}{s^2} \right)^2} \\
 & \stackrel{?}{\geq} 9s^2 - 80Rr - 2r^2 - 2 \sum_{\text{cyc}} n_a^2 = \frac{(3R+2r)s^2 - r(48R^2 - 14Rr - 2r^2)}{R}
 \end{aligned}$$

[illegible]